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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Newton's first law of motion is valid only in the f.t‘nu"ubifcf‘ru%'% L (ﬁif/{Ju/ eSSz |1 -1

absence of .

Momentum fﬁ‘?r (D) Friction uﬂ} (C)  Netforce Tt (B) Force Ju? (A)

The range of clinical thermometer is : -3 sl Ky Sl ]2
35°C-42°C (D) 30°C-42 °C (C) 25°C-42°C (B) 20°C-42°C (A)
Speed of light is : PN PPNk
3x108ms™' (D) 3x10%kms™ (C) 2x10°ms™ (B) 2x10%ms™' (A)
Cheetah can run at a speed of : b C i by § - 2|4

80 kmh™' (D) 70 kmh™'  (C) 60 kmh™"  (B) 50 kmh™' (A)

The work done in lifting a brick of mass 2 kg ¥y tosl/ /U~ lbd NARNE :_.dfj..*..-‘«.l...gu((l‘f)(» 5

through a height of 5 m above ground will be :

100 J (D) 504 (C) 10J (B) 2.5J (A)
in gases, heat is mainly transferred by : IS R J&1 2wl S /_,:'f 6
Conduction u‘/ 2 (B) Molecular collision !/6();-0 L (A)
Radiation /.. D). Convection P4 (©)
S.1 unit of momentum is : _‘/: ; D 2 87 Ay ("‘Vr 7
Kgms™' (D) Kg m's (B)  Kgm's” (A
The number of perpendicular components f 31§-L3mu5"Jdk -‘;f Eafl (Us?) /"50’( 8
4 (D) 5 2 @) 1 (A
Moon is -—----- km away from the earth : ‘&m J /*.;:,K vt ) sl 9
4,80,000 (D) 3,80,000 (C) ' cﬁs:(s) 1,80,000 (A)
Generally faces of Leslie's cube are : "< (:{:’ doe Sy £+ 610
6 (D) 5 (C) 4 (B) 3 (A)
The least count of digital vernier callipers is : e b 25K e /,zjo'-f s FE1
0.0001 mm (D) 0.001 mm (C) 0.01 mm (B) 0.1 mm (A)
S.1 unit of pressure is Pascal which is equal to : - & q_m/.u&‘g.g -.:'.f&&;‘b’ﬁ.{dﬁf:}’f(j"/ 12
10° Nm™2 (D) 10> Nm™ (C) 1 Nm™? (B) 10 Nm™2  (A)
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10 2. Write short answers to any Five (5) questions : : A7 4 /‘9 L =iy (5) 5& . J/ vl

(i) What is meant by base quantities and base units? e < Uy Sslk ot sl Sl (i)

(ii) Define scientific notation. -g h-y/.; J u"‘f;’ P (ii)
(iii) Write four name of laboratory safety equipments. _’dﬁ 4 L =T u“""&? ;I‘g Y d/*;l_f:! (iii)
(iv) Define terminal velocity. & 7§ & S (iv)
(v) Differentiate between vectors and scalars. ?‘L J/ _.L-'/ ' 4 A 7! )}5 (v)
(Vi) What is meant by breaking and skidding? f< iy Ve Jicf s By (vi)
(Vi) Write two methods of reducing friction. 4 ESpnl S ﬁ/ S uy;' (vii)
(viii) Define centripetal force and write its formula. av Us’s il g _.gl/;" J Jo? S YA (viii)
10 3. Write short answers to any Five (5) questions : : 24 ez A L ouy (5) &g < df -3
(i) What is meant by unstable equilibrium? el e EASET LicGd ()
(i) What is difference between like and unlike parallel forces? "{.J/“prﬂ fz}J"l,cé LT 19l FY (i)
(iii) How the mass of earth can be determined? T r b Lf r.vl” g u/ JLE L (i)
(iv) Define field force. - _é ..y/"- u( oS §i% (iv)
(V) Write the value of 'G' and write its S.| unit. g S A Ul el J '‘G' (v)
(Vi) What do you mean by light energy? fe s L V < G oAy (vi)
(vii) Define potential energy and write its equation. Lol 1 d, J1 s é ....d/ J S/ J’bj’ (vii)
(viii) Define power and write its S.| unit. & <y S K Ut é _.v/" J sk (viii)
10 4. Write short answers to any Five (5) questions : : 24 =z /z" L =iy (5) éI', = Jf -4
(i) State Hooke's Law. - YL uiF ¥ o ()
(ii) State Young's Modulus. -&l vk Lfb‘r ﬂ- (ii)
(iii) Define density and elasticity. _é _e_f/;" d/ J“;’w P (iit)
(iv) Define latent heat of fusion. - -Zf_{ ...y/f J <7 J; J/ su{ (iv)
(V) Differentiate between heat and temperature. _’d_{ Uk J} Yo L, Z-/;} s a7 (v)
(vi) Define thermal conductivity of a substance. -5 _.g,!/‘? J &.,}Cf J} L/( 2 U/ (vi)
(Vii) What is difference between land and sea breezes? _é Uk J/ W & $A f-." s Sz (-»'j (vii)
(viii) Write two uses of good conductors. & J&1 0 L }/’(}‘f &&i (viii)
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Note : Attempt any TWO questions. w4 ez £ ety »e Jf Y
e S T el Sk (U 5

5. (a) Derive first equation of motion with the help of speed-time graph.

5 Jﬁ'fd}?féﬁi.urc.é;J 3ms™! S L A Es 50 cm f()z‘:ul.rl);g 0.5 ()
' ?Lfﬂ:u:/;’d/u:«;’

(b) How much centripetal force is needed to make a body of mass 0.5 kg to move in a circle of

radius 50 cm with a speed 3 ms~'2
for

4 6. (a) State and explain the conditions/ equilibrium. - 2% =alos sl 25 Wl 512 § A8 (L) -6

-<- 4000 N S Jgdlji./d'f;w e 3T b 22 4 ms™ oy fi ()
S AL

(b) A motor boat moves at a steady speed of 4 ms™". Water resistance acting on it is 4000 N.
Calculate power of its engine.

4 gh s V=V (W BAT) oy oy A5 Ganteds () -7
7. (a) Define volume thermal expansion. Derive the equation V=Vo (1+ BAT)
bl 11.4 N UnbUF L3t Qs —e 18 N wisiint ikl (&)
5 Senbbl) SUTN ugén.,:, (VR N

(b) An object has weight 18 N in air. Its weight is found to be 11.4 N when immersed in water.
Calculate its density. Can you guess the material of the object?
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Law of Inertia is known as : v el JIEE LA [1 1

Second law of motion /761,267 (B) First law of motion (7Gkr6/> (A)
Momentum ("“":’ (D) Third law of motion /96126 (C)

Water freezes at : fee bl -z Z ,cf-/;; g d}; 2
0°K (D) -273K () 32 °F (B) 0°F (A)

The Einstein's mass-energy equation 'C' is the : F3 6 46°C & ebls Gt JesT(3
Speed of light %;Jgﬁ; (B) Speed of sound é{d/)bl' (A)
Speed of earth é(d/uf; (D) Speed of electron é{d/us/tg I (C)

Cheetah can run at a speed of : 8 0 e Ay ela
80 kmh™' (D) 70 kmh™' (C) 60 kmh™' (B) 50 kmh™' (A)

Cne horse power is equal to : te b sl sl Uy K15
748 W (D) 746 W (C) 745 W (B) 744 W (A)

Radiation is the mode z;.dU«J;" :_.d/’}’ufw}ﬂJJ!:_ﬁd/s);éMg&&m}; JW; !'-lgjm 6

of transfer of heat from one place to another in the form of: wavas ca

Transverse waves J;")gfjr"lf (B)
Electromagnetic waves ¥ _@f-c':/g I (D) ;{ o
Coefficient of friction between tyre and wet road is :  : —d¥gh s 7% ; -/’E 7
L e . Ao i m_..m"pﬂm o LR L B 5
0.4 (D) 0.3 (C) 0.2 (B) 0.1 (A)
Value of sin 30 is : e s L,( sin 30" |8
0.866 (D) 0.707 (C) 0.5 (B) 0(Zero) (A)

The value of 'g' at a height one earth's radius above the : a"_dn,;dijzzuldézédﬁ Jc;d}é’:.-f S 'g'|9
surface of earth is :

Z¢ O 3¢ © 52 (@®) 29 (A)

Thermal conductivity of wood is - &fflf J} J d}a 10
0.09 Wm™ 'K~ (D) 0.08Wm™ K" () 0.07Wm 'K (B) 006Wm'K (A)

One litre is equal to : - % V3 Ve -9 11
1m® (D) ldm® (C) lem® (B) L mm®> (A)

Density of ice is : b i &5 d o2
930 kgm™ (D) 920 kgm™ (C) 910 kgm™ (B) 900 kgm™ (A)
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10 2. Write short answers to any Five (5) questions : =4 (O 4 /‘? L ey (5) ég r Jf -2
(i) Define physical sciences and biological sciences. _5 ..é!ﬁJfﬂsz’Jf& 2! /"l/ﬂ/’ (i)
(if) What is meant by physical quantities? Give two examples. _ﬁ‘:uffl’m ?+:yg;u,;:@f (i)
(i) What is meant by prefixes? fe sr U 7‘664 (iii)
(iv) Define velocity and write its S.1. unit, & <y S § Ul é ...g,J/". J L‘ﬂh (iv)
(V) Define vibratory motion and give its example. & Je i:‘i: 7§ S Srrils (V)
(vi) State Newton's third law of motion and write two examples.-’dg dl"?:ml g ui.;.c)i!? e b’er’cf’ﬁ (vi)
(Vi) What is meant by tension in a string? < oy k” < c)ﬁg e B (vii)
(vii) Define co-efficient of friction and write its equation, ..’dﬁ..:,lsl/JJb:! g..y/."d’u;;._:l'wd: oy (viii)
10 3. Write short answers to any Five (5) questions : : P4 O1A7 4 /‘f’ L ey (5) é; & Jf -3
(i) Why are vehicles made heavy at the bottom? Ut Jlg o{ S U {;“ [5]% 20
(i) What is meant by neutral equilibrium? S slp e (R0 S (i)
(iii) What are the natural satellites? sur gjf"flﬁi"’ JJ;’ (iii)
(iv) What is the value of 'g" at moon and mars? ¢ YV s J 'g’ ¢ E/ sl £l (iv)
(V) What is difference between 'g' and 'G'? S J/ “LJ/ UGl g (v)
(Vi) What is the second name of solar cell and how is it made? e [ d: ] ﬁ;“ulrt!/»b’dffr (vi)
(vii) Define energy and write its S.| unit. @ <ySI K meE ) g (vii)
(viii) On which factors, work depends? fe tw 4 JI d( M S (viii)
10 4. Write short answers to any Five (5) questions : 4 T 4 /z' L =y (5) 55 e Jf -4
(i) State Pascal's Law. & Yk UK FL )
(ii) State Archimedes Principle. _é/ Uk Jr1 ¥ Jad (i)
(iii) Define elasticity and stress. ,2.“'; ...gj/‘.; J J)‘ 1 13""&1},1 (iii)
(iv) Define lower and upper fixed points. _é ....9,1/7 J u;' E;_' juy {f s 724 (iv)
(V) Write two applications of thermal expansion. _é Ol 9 L L (J/;' ) J}V (v)
(vi) Define conduction. -é‘f“; ....g/"" J uﬁ(}f (vi)
{vii) Define convection. _é -..g’/"; d/ uf‘g/ (vii)
(viii) Define radiation. | 2w S Fsh wiii)
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Note : Attempt any TWO questions. _é a4 ety e Jf s
4 ‘-Dirfi =F Sk G E S e d SR AT () 5
5. (a) How can you relate a force with the change of momentum of a body and
prove that . —h =

-2 + b - W
-{.{ﬁ)ﬂ[@cﬁbl‘y";&jgﬁ 2 ms ng’zdlsﬁ;a.E‘fdﬁfyg 80 ()
5 L I L S Pk SEE 32 20 o2
(b) A train slows down from 80 Km A~ with a uniform retardation of 2 ms 2.

-
How long will it take to attain a speed of 20 Kmh™ ?

4 : ~Eeol$uel U £ JSEASET (L 6
6. (a) Define equilibrium and explain its three states.
5 -E et - PEFSAS 6m U 10's S0y 200 kg hd (&)

(b) Calculate the power of a pump which can lift 200 kg of water
through a height of 6 m in 10 seconds.

4 ?‘LL}@J()VQC":‘?@AJJ(;‘J};;Q -é _@;JJ!‘?&JL? (W .7
7. (a) Define specific heat. How would you find the specific heat of a solid?
5 v 20N dhe 41 e 10 mm IS Vit Suiber ot (L)
| SE P i

(b) The head of a pin is a square of side 10 mm. Find the pressure on it
_due to a force of 20 N.
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